# TUTTE POLYNOMIALS OF WHEELS VIA GENERATING FUNCTIONS 

C. BRENNAN, T. MANSOUR AND E. MPHAKO-BANDA*<br>Communicated by Jamshid Moori


#### Abstract

We find an explicit expression of the Tutte polynomial of an $n$-fan. We also find a formula of the Tutte polynomial of an $n$-wheel in terms of the Tutte polynomial of $n$-fans. Finally, we give an alternative expression of the Tutte polynomial of an $n$-wheel and then prove the explicit formula for the Tutte polynomial of an $n$-wheel.


## 1. Introduction

The Tutte polynomial of a graph was originally defined by Tutte in 1954 as an extension of the chromatic polynomial, see [5, 6]. It is related to many difficult problems in a wide variety of areas such as linear coding, knot theory, etc., see [2]. Computing the Tutte polynomial of a graph is known to be \# P hard, see [3], hence there is much interest to find their explicit expressions for families of graphs. Although, some families have simple expressions for the chromatic polynomial, the same cannot be said about the Tutte polynomial. For example, the family of complete graphs has fairly simple chromatic polynomial, see [4], whereas the only known expression for the Tutte polynomial of the same family, given in [7], is somewhat more complicated.

[^0]An $n$-wheel is another family of graphs, denoted by $W_{n}$, with a simple chromatic polynomial [4]. In [1], the Tutte polynomial of an $n$-wheel was defined recursively and the auxiliary equation for the recurrence was used to write down an explicit formula of the Tutte polynomial of the wheel involving the roots of this equation as
(1.1)
$T\left(W_{n} ; x, y\right)=x y-x-y-1+2^{-n}\left[(x+y+1+\sqrt{\beta})^{n}+(x+y+1-\sqrt{\beta})^{n}\right]$ where $\beta=(x+y+1)^{2}-4 x y$.

The motivation of the paper is to find an alternative explicit formula of the Tutte polynomial of a wheel without using a computer program. The formula will be found using a completely different approach from the one used in [1]. Having done the computation, we show that the formula in [1], which was given without proof, can be derived from our formula. In the paper, we therefore prove this formula.

Here we provide a proof to the formula (1.1) for $T\left(W_{n} ; x, y\right)$. We begin by finding a formula for the Tutte polynomial of an $n$-fan, $F_{n}$

$$
\begin{aligned}
& T\left(F_{n} ; x, y\right) \\
& =\sum_{a=0}^{n-1} \sum_{j=0}^{n-1}\binom{a+j}{j}\left[\binom{n-2-j}{a-1} x+\binom{n-2-j}{a}\right] x^{j} y^{n-1-a-j} .
\end{aligned}
$$

We then define the Tutte polynomial of an $n$-wheel recursively in terms of the Tutte polynomial of $n$-fans. This allows us to find an alternative explicit formula for the Tutte polynomial of an $n$-wheel, which is as follows

$$
\begin{aligned}
T\left(W_{n} ; x, y\right) & =\sum_{m=2}^{n} T\left(F_{m} ; x, y\right)+y T\left(F_{1} ; x, y\right) \\
& +\sum_{m=2}^{n-1} \sum_{i=1}^{m} \sum_{k=i}^{n-m+i-1} y^{k} T\left(F_{m-i} ; x, y\right)+\sum_{k=1}^{n-1} y^{k+1} .
\end{aligned}
$$

Finally, with the use of generating functions, we recover and hence prove equation (1.1).

## 2. Tutte polynomials of fans

In this section, we give the recursive method and the explicit expression of the Tutte polynomial of an $n$-fan.

An $n$-fan, denoted by $F_{n}$, is defined as $F_{n}=P_{n}+K_{1}$. It follows that $F_{0}=K_{1}$.

Our subsequent proofs involve the graph $G_{n}^{j}$. It is defined as an $n$-fan with one bunch of $j$ parallel edges on the outermost edge $e_{1}$ as shown in Figure 1.


Figure 1. The graph $G_{n}^{j}$
Using the deletion and contraction method of the Tutte polynomial, we have the following recursion.
Theorem 2.1. Let $F_{n}$ be an $n$-fan. For $n \geq 1$, the Tutte polynomial of $F_{n}$ is given by

$$
T\left(F_{n} ; x, y\right)=x^{n}+\sum_{j=1}^{n-1} x^{n-1-j} T\left(G_{j}^{2} ; x, y\right)
$$

Proof. By successive deletion and contraction of the edges on the path $P_{n}$ in $F_{n}$, we obtain the required result.

We need the following lemmas to get an explicit formula for Tutte polynomial of an $n$-fan. Lemma 2.1 gives the Tutte polynomial of the graph $G_{n}^{2}$ in terms of the Tutte polynomial of $n$-fans.
Lemma 2.2. The Tutte polynomial of the graph $G_{n}^{2}$ is given by

$$
T\left(G_{n}^{2} ; x, y\right)=\sum_{j=0}^{n} y^{j} T\left(F_{n-j} ; x, y\right) .
$$

Proof. The formula is obtained by deleting and contracting one of the parallel edges then removing the loop and doing the process $n$ times.

We will define $T\left(F_{0} ; x, y\right)=T\left(K_{1} ; x, y\right)=1$. Lemma 2.3 gives the relationship between the Tutte polynomials of $F_{n}$ and $G_{n}^{2}$ in terms of generating functions.

Lemma 2.3. Let

$$
G_{0}(z)=\sum_{n \geq 1} T\left(G_{n}^{2} ; x, y\right) z^{n} \text { and } F(z)=\sum_{n \geq 1} T\left(F_{n} ; x, y\right) z^{n},
$$

then

$$
\begin{aligned}
F(z) & =\frac{x z}{1-x z}+\frac{z}{1-x z} G_{0}(z), \\
G_{0}(z) & =\frac{1}{1-y z} F(z)+\frac{z y}{1-y z} .
\end{aligned}
$$

Proof. By the use of Theorem 2.1, we deduce the following

$$
\begin{aligned}
F(z) & =\sum_{n \geq 1} T\left(F_{n} ; x, y\right) z^{n} \\
& =\sum_{n \geq 1} x^{n} z^{n}+\sum_{n \geq 2} \sum_{j=1}^{n-1}\left(x^{n-1-j} T\left(G_{j}^{2} ; x, y\right)\right) z^{n} \\
& =\frac{x z}{1-x z}+T\left(G_{1}^{2} ; x, y\right) \frac{z^{2}}{1-x z}+T\left(G_{2}^{2} ; x, y\right) \frac{z^{3}}{1-x z}+\cdots \\
& =\frac{x z}{1-x z}+\frac{z}{1-x z} \sum_{j=1} T\left(G_{j}^{2} ; x, y\right) z^{j} \\
& =\frac{x z}{1-x z}+\frac{z}{1-x z} G_{0}(z)
\end{aligned}
$$

By the use of Lemma 2.2, we deduce that

$$
\begin{aligned}
G_{0}(z) & =\sum_{n \geq 1} T\left(G_{n}^{2} ; x, y\right) z^{n} \\
& =\sum_{n \geq 1} T\left(F_{n} ; x, y\right) z^{n}+\sum_{n \geq 2} \sum_{j=1}^{n-1}\left(y^{j} T\left(F_{n-j} ; x, y\right)\right) z^{n}+\sum_{n \geq 1} y^{n} z^{n} \\
& =F(z)+\frac{y z}{1-y z}+y F_{1} \frac{z^{2}}{1-y z}+y F_{2} \frac{z^{3}}{1-y z}+\cdots \\
& =F(z)+\frac{y z}{1-y z}+\frac{y z}{1-y z} F(z) \\
& =\frac{1}{1-y z} F(z)+\frac{y z}{1-y z}
\end{aligned}
$$

as claimed.

We are now in a position to give the explicit formula for the Tutte polynomial of $F_{n}$.

Theorem 2.4. Let $F_{n}$ be an $n$-fan. The Tutte polynomial of an $n$-fan is,

$$
\begin{aligned}
& T\left(F_{n} ; x, y\right) \\
& =\sum_{a=0}^{n-1} \sum_{j=0}^{n-1}\binom{a+j}{j}\left[\binom{n-2-j}{a-1} x+\binom{n-2-j}{a}\right] x^{j} y^{n-1-a-j .}
\end{aligned}
$$

Proof. By the use of Lemma 2.3, we deduce the following

$$
\begin{aligned}
F(z) & =\frac{x z}{1-x z}+\frac{z}{1-x z} G_{0}(z) \\
& =\frac{x z}{1-x z}+\frac{z}{1-x z}\left[\frac{1}{1-y z} F(z)+\frac{y z}{1-y z}\right]
\end{aligned}
$$

which implies that
(2.1) $\quad F(z)=\frac{\frac{x z}{1-x z}+\frac{z^{2} y}{(1-x z)(1-y z)}}{1-\frac{z}{(1-x z)(1-y z)}}$

$$
\begin{aligned}
& =\left(\frac{x z}{1-x z}+\frac{z^{2} y}{(1-x z)(1-y z)}\right) \sum_{a \geq 0} \frac{z^{a}}{(1-x z)^{a}(1-y z)^{a}} \\
& =\sum_{a \geq 0} \frac{x z^{a+1}}{(1-x z)^{a+1}(1-y z)^{a}}+\sum_{a \geq 0} \frac{y z^{a+2}}{(1-x z)^{a+1}(1-y z)^{a+1}} \\
& =\sum_{a \geq 0} \sum_{j \geq 0} \sum_{i \geq 0} x z^{a+1}\binom{a+j}{j}(z x)^{j}\binom{a-1+i}{i}(y z)^{i} \\
& \quad \quad+\sum_{a \geq 0} \sum_{j \geq 0} \sum_{i \geq 0}\binom{a+j}{j}\binom{a+i}{i} y z^{a+2}(z x)^{j}(y z)^{i} .
\end{aligned}
$$

However, we know that $F(z)=\sum_{n \geq 1} T\left(F_{n} ; x, y\right) z^{n}$, thus

$$
\begin{aligned}
& T\left(F_{n} ; x, y\right) \\
& =\sum_{a=0}^{n-1} \sum_{j=0}^{n-1}\binom{a+j}{j}\binom{n-2-j}{n-1-a-j} x^{1+j} y^{n-1-a-j} \\
& \quad+\sum_{a=0}^{n-1} \sum_{j=0}^{n-1}\binom{a+j}{j}\binom{n-2-j}{n-2-a-j} x^{j} y^{n-1-a-j} \\
& =\sum_{a=0}^{n-1} \sum_{j=0}^{n-1}\binom{a+j}{j}\left[\binom{n-2-j}{a-1} x+\binom{n-2-j}{a}\right] x^{j} y^{n-1-a-j}
\end{aligned}
$$

as required.

## 3. Tutte polynomials of wheels

An $n$-wheel, denoted by $W_{n}$, is defined as $W_{n}=C_{n}+K_{1}$. Any edge joining $K_{1}$ to a vertex in $C_{n}$ is called a spoke of $W_{n}$. The edges which are not spokes are called arc edges. It is obvious that if we delete an arc edge we get an $n$-fan. Since we know the explicit expression of the Tutte polynomial of an $n$-fan, we just need to express the Tutte polynomial of an $n$-wheel in terms of the Tutte polynomial of $n$-fans to get an explicit expression of the Tutte polynomial of an $n$-wheel. Recall from Section 2 the definition of the graph $G_{n}^{j}$ is an $n$-fan with one bunch of $j$ parallel edges on the outermost edge.

Lemma 3.1. The Tutte polynomial of the graph $G_{n}^{j}$,

$$
\begin{equation*}
T\left(G_{n}^{j} ; x, y\right)=T\left(F_{n} ; x, y\right)+\sum_{i=1}^{n} \sum_{k=i}^{j+i-2} y^{k} T\left(F_{n-i} ; x, y\right) \tag{3.1}
\end{equation*}
$$

Moreover, the generating function $G_{j}(z)=\sum_{n \geq 1} T\left(G_{n}^{j} ; x, y\right) z^{n}$ is given by

$$
G_{j}(z)=F(z)+\frac{z y\left(1-y^{j-1}\right)}{(1-y)(1-z y)}(F(z)+1)
$$

where $F(z)$ is given by (2.1).
Proof. We use the deletion and contraction method. Let $e_{1}$ be the outermost edge of $G_{n}^{j}$, the graph with $j$ parallel edges. We start by deleting
and contracting one edge parallel to $e_{1}$, one at a time to get (3.1). By multiplying (3.1) by $z^{n}$ and summing over $n \geq 1$, we obtain

$$
\begin{aligned}
G_{j}(z) & =F(z)+\sum_{n \geq 1} z^{n}\left(\sum_{i=1}^{n} \frac{y^{i}-y^{j+i-1}}{1-y} T\left(F_{n-i} ; x, y\right)\right) \\
& =F(z)+\frac{1}{1-y} \sum_{n \geq 0} \frac{z^{n+1} y-z^{n+1} y^{j}}{1-z y} T\left(F_{n} ; x, y\right) \\
& =F(z)+\frac{z y\left(1-y^{j-1}\right)}{(1-y)(1-z y)}\left(F(z)+T\left(F_{0} ; x, y\right)\right) \\
& =F(z)+\frac{z y\left(1-y^{j-1}\right)}{(1-y)(1-z y)}(F(z)+1),
\end{aligned}
$$

as required.
We can define the Tutte polynomial of an $n$-wheel in terms of the Tutte polynomials of an $n$-fan and of these $G_{n}^{j}$ graphs as follows:

Lemma 3.2. The Tutte polynomial of an $n$-wheel, $W_{n}$ is

$$
\begin{align*}
T\left(W_{n} ; x, y\right) & =\sum_{m=2}^{n} T\left(F_{m} ; x, y\right)+y T\left(F_{1} ; x, y\right) \\
& +\sum_{m=2}^{n-1} \sum_{i=1}^{m} \sum_{k=i}^{n-m+i-1} y^{k} T\left(F_{m-i} ; x, y\right)+\sum_{k=1}^{n-1} y^{k+1} . \tag{3.2}
\end{align*}
$$

Proof. Without loss of generality, we use $W_{6}$ to prove the general case. By using the deletion and contraction method, systematically deleting the arc edge which is adjacent to the spoke with parallel edges at each stage, we get


Thus, in general we have

$$
\begin{equation*}
=F_{6}+G_{5}^{2}+G_{4}^{3}+G_{3}^{4}+G_{2}^{5}+y G_{1}^{6} . \tag{3.3}
\end{equation*}
$$

$$
\begin{aligned}
T\left(W_{n} ; x, y\right) & =T\left(F_{n} ; x, y\right) \\
& +T\left(G_{n-1}^{2} ; x, y\right)+T\left(G_{n-2}^{3} ; x, y\right)+\cdots+T\left(G_{2}^{n-1} ; x, y\right) \\
& +y T\left(G_{1}^{n} ; x, y\right) .
\end{aligned}
$$

Now, substituting Lemma 3.1 in Equation (3.3), we get

$$
\begin{aligned}
& T\left(W_{n} ; x, y\right) \\
& \begin{aligned}
= & T\left(F_{n} ; x, y\right)+\sum_{m=2}^{n-1} T\left(G_{m}^{n-m+1} ; x, y\right)+y T\left(G_{1}^{n} ; x, y\right) \\
= & T\left(F_{n} ; x, y\right)
\end{aligned}+\sum_{m=2}^{n-1}\left[T\left(F_{m} ; x, y\right)+\sum_{i=1}^{m} \sum_{k=i}^{n-m+i-1} y^{k} T\left(F_{m-i} ; x, y\right)\right] \\
& \quad+y\left[T\left(F_{1} ; x, y\right)+\sum_{k=1}^{n-1} y^{k} T\left(F_{0} ; x, y\right)\right] \\
& =\sum_{m=2}^{n} T\left(F_{m} ; x, y\right)+y T\left(F_{1} ; x, y\right)+\sum_{m=2}^{n-1} \sum_{i=1}^{m} \sum_{k=i}^{n-m+i-1} y^{k} T\left(F_{m-i} ; x, y\right) \\
& \quad+\sum_{k=1}^{n-1} y^{k+1},
\end{aligned}
$$

as claimed.

Now, let us recover the formula (1.1) for $T\left(W_{n} ; x, y\right)$. In order to do that, we define $W(z)=\sum_{n \geq 1} T\left(W_{n} ; x, y\right) z^{n}$ to be the generating function for the sequence $T\left(W_{n} ; x, y\right)$. Multiplying (3.2) by $z^{n}$ and summing over $n \geq 1$, using the fact that $T\left(F_{0} ; x, y\right)=1$, we have
$W(z)=\frac{1}{1-z}(F(z)-x z)+\frac{x y z}{1-z}+H(z)+\frac{1}{1-y} \sum_{n \geq 2}\left(y^{2} z^{n}-y^{n+1} z^{n}\right)$,
where $F(z)$ is given by $(2.1)$ and $H(z)$ is given by

$$
\begin{aligned}
H(z) & \left.=\sum_{n \geq 3}\left[\sum_{m=2}^{n-1} \sum_{i=1}^{m} \sum_{k=i}^{n-1-m+i} y^{k} T\left(F_{m-i} ; x, y\right)\right)\right] z^{n} \\
& =\sum_{n \geq 3}\left(\sum_{m=2}^{n-1} \sum_{i=1}^{m} \frac{y^{i}-y^{n-m+i}}{1-y} T\left(F_{m-i} ; x, y\right)\right) z^{n} \\
& =\frac{1}{1-y} \sum_{n \geq 3}\left(\sum_{m=2}^{n-1} \sum_{i=1}^{m}\left(y^{i}-y^{n-m+i}\right) T\left(F_{m-i} ; x, y\right)\right) z^{n} \\
& =\frac{1}{1-y} \sum_{n \geq 3}\left(\sum_{m=0}^{n-2}\left(\frac{y^{m+1}}{1-z}-\frac{y^{m+2}}{1-y z}\right) T\left(F_{n-2-m} ; x, y\right)\right) z^{n} \\
& =\frac{1}{1-y}\left(\frac{(1-y) y^{2} z^{3} T\left(F_{0} ; x, y\right)}{(1-z)(1-y z)^{2}}+\sum_{n \geq 1} \frac{(1-y) y z^{n+2} T\left(F_{n} ; x, y\right)}{(1-z)(1-y z)^{2}}\right) \\
& =\frac{y^{2} z^{3}}{(1-z)(1-y z)^{2}}+\frac{y z^{2}}{(1-z)(1-y z)^{2}} F(z) .
\end{aligned}
$$

Hence, by (2.1) the generating function $W(z)$ can be written as

$$
\begin{equation*}
W(z)=x y z+\frac{\left(x+y+x y+x^{2}+y^{2}\right) z^{2}-2 x y(x+y) z^{3}+x^{2} y^{2} z^{4}}{(1-z)\left(1-(1+x+y) z+x y z^{2}\right)} \tag{3.4}
\end{equation*}
$$

We are now in a position to give the explicit formula for the Tutte polynomial of $W_{n}$. By (3.4) the generating function $W(z)$ can be written
as

$$
\begin{aligned}
W(z) & =\frac{x y z}{1-z}+\frac{z^{2}}{1-z} \cdot \frac{x+y+x^{2}+y^{2}+x y(1-x-y) z}{1-(1+x+y) z+x y z^{2}} \\
& =\frac{x y z}{1-z}+\frac{z^{2}}{1-z}\left(\frac{A}{1-a z}+\frac{B}{1-b z}\right),
\end{aligned}
$$

where

$$
A=-a(1-a), \quad B=-b(1-b)
$$

and

$$
\begin{aligned}
& a=\frac{1+x+y+\sqrt{(1+x+y)^{2}-4 x y}}{2}, \\
& b=\frac{1+x+y-\sqrt{(1+x+y)^{2}-4 x y}}{2} .
\end{aligned}
$$

Hence,

$$
W(z)=\sum_{n \geq 1} x y z^{n}+z^{2} \sum_{n \geq 0} z^{n} \sum_{n \geq 0}\left(A a^{n}+B b^{n}\right) z^{n},
$$

which implies that the coefficient of $z^{n}, n \geq 1$, in $W(z)$ is given by

$$
\begin{aligned}
& T\left(W_{n} ; x, y\right) \\
& =x y+\sum_{j=0}^{n-2}\left(A a^{j}+B b^{j}\right) \\
& =x y-a(1-a) \frac{1-a^{n-1}}{1-a}-b(1-b) \frac{1-b^{n-1}}{1-b} \\
& =x y-a\left(1-a^{n-1}\right)-b\left(1-b^{n-1}\right)=x y-a-b+a^{n}+b^{n} \\
& =x y-x-y-1+a^{n}+b^{n} .
\end{aligned}
$$

Thus we have proved the following result:
Theorem 3.3. For all $n \geq 1$,
$T\left(W_{n} ; x, y\right)=x y-x-y-1+2^{-n}\left[(x+y+1+\sqrt{\beta})^{n}+(x+y+1-\sqrt{\beta})^{n}\right]$, where $\beta=(x+y+1)^{2}-4 x y$.

Indeed, the proof of equation (1.1) stated in [1] is now complete.

## References

[1] N. L. Biggs, R. M. Damerell and D. A. Sands, Recursive families of graphs, J. Combin. Theory Ser. B 12 (1972) 123-131.
[2] T. H. Brylawski and J. G. Oxley, The Tutte Polynomial and its Applications, 123-215, Matroid Applications, Encyclopedia Math. Appl., Cambridge Univ. Press, Cambridge, 1992.
[3] F. Jaeger, D. Vertigan and D. Welsh, On the computational complexity of the Jones and Tutte polynomials, Math. Proc. Cambridge Philos. Soc. 108 (1990), no. 1, 35-53.
[4] R. C. Read, An introduction to chromatic polynomials, J. Combin. Theory 4 (1968) 52-71.
[5] T. W. Tutte, A contribution to the theory of chromatic polynomials, Canadian J. Math. 6 (1954) 80-91.
[6] T. W. Tutte, On dichromatic polynominals, J. Combin. Theory 2 (1967) 301320.
[7] D. J. A. Welsh, Counting, Colourings and Flows in Random Graphs, 491-505, Combinatorics Paul Erdős is Eighty, 2, János Bolyai Math. Soc., Budapest, 1993.

## Charlotte Brennan

The John Knopfmacher Centre for Applicable Analysis and Number Theory, School of Mathematics, University of the Witwatersrand, Private Bag 3, Wits 2050, Johannesburg, South Africa
Email: Charlotte.Brennan@wits.ac.za

## Toufik Mansour

Department of Mathematics, University of Haifa, 31905, Haifa, Israel
Email: Tmansour@univ.haifa.ac.il

## Eunice Mphako-Banda

The John Knopfmacher Centre for Applicable Analysis and Number Theory, School of Mathematics, University of the Witwatersrand, Private Bag 3, Wits 2050, Johannesburg, South Africa
Email: Eunice.Mphako-Banda@wits.ac.za


[^0]:    MSC(2010): Primary: 05C31; Secondary: 68R10, 05A15.
    Keywords: Tutte polynomials, Wheels, Fans, Generating Functions.
    Received: 26 June 2011, Accepted: 29 July 2012.
    *Corresponding author
    (c) 2013 Iranian Mathematical Society.

